II.  The Production of Human Gametes:  Sperm and Egg


A.  Human body cells contain ________ chromosomes.  They are ____________

                  they contain two sets of chromosomes (2n)  


B.  In order to produce a _________________(fertilized egg) with 46 

chromosomes,  the __________ and __________ must contain _______

chromosomes.

C.  To reduce the number of chromosomes in the __________________(sperm 

and egg cells)  the body must carry on a process called __________________

(My-oh-sis) or reduction division.

D.  ___________________ is similar to mitosis except:


1.  The parent cell divides ___________________.


2.  _____________ cells are produced instead of two.

3.  The daughter cells are __________________ (n).  they contain only one set  of chromosomes.  ½ the number of  chromosomes as the parent cell.

4.  _________________ or sex cells (sperm and egg) are produced in meiosis, 

while ___________________ cells (body cells) are produced in mitosis.
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SPERMATOGENESIS:  Production of Human Sperm



OOGENESIS:  Production of Human Eggs

